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Solve each system of inequalities by graphing.
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4. Justin bought eight oranges and one grapefruit for a total of $4.60. Later that day, he bought six
oranges and three grapefruits for a total of $4.80. Now he wants to find the price of each. Write and
solve a system of equations to help Justin find the price of each item.
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5. The measure of one acute angle of a right triangle is 30° more than twice the measure of the other

peidtey

acute angle. Find the measure of each angle.
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Graph each system of constraints. Name all vertices. Then find the values of x and y that maximize
or minimize the objective function.

x+2y<6 Y & “g¢ +3 x+ y<5 Y& ~xx§
6. x22 7. jx+2y<8 Y.L -%_K +4
1 - >0,y=0 .
y (Ll)qa(t)*ﬂ(l):lo x20,y o) f-o
Minimum for{7=7757 (¢ +40) =1l Maximum for * ()= &
_ : - Gio) = f= 513C2)=
C=3x+4y Q,2) 2 ;(;)1\((1):}% P=x+3y

2,3) = f- z¢301=11
\@lq) =7 0+34): 1Y

N‘K’





image5.png
8. Linear Programming
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Ben the baker wants to make bread and cake. A loaf of bread is made with 2 cups of flour
and ¥% cup of sugar. Cake is made with 4 cups of flour and 1 cup of sugar. Ben will make a
profit of $1.50 on each loaf of bread and a profit of $4 on each cake. He has 16 cups of flour
and 3 cups of sugar. How many of each should he make to maximize his profit? What is

the maximum profit?
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